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2. [6 marks] Given the function f:
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Find the z-values where f is disconi
each case. Refer to the definition of ¢







5. [12 marks] Find the derivatives for the ;
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(b) y = arctan(w5%*)sec(4z) + cos? (
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8. [5 marks] Given f(z) = 2arctanz and g(z) = In(1 + 2?) + T 2, find whe the
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ation

have any common tangent line at one and the same point, and if yes, find the
of the tangent(s).
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9. [5 marks] I on of the tangent line
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11. [3 marks]
give a cou
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12. [8 marks] Find thT
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13. [15 marks] Consider the function:
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(a) Find its z- and y- intercepts.
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(b) Find its asymptotes, if any. Justify your answer using limits.
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15. [6 marks] Find the antiderivatives:
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16. [4 marks] Giver
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